MODEL TEST PAPER
CLASS VI (PRATIBHA)
(MATHS)

Time :- 2 %Hrs.

qHY - Z%Hrs.

General Instruction:-

1. All the Questions are compulsory,
2. Paper is divided into four sections

Q.1.

Q.2.

Q.3.

Q.4.

Q.5.

Q.6.

Q.7.

SECTION-A

How many integers lie between -30 and -20?

-30 AT -20 F i § Tt Toriah STl 72

M.M. =50

(1)

In each of the following pairs, which number is to the right of the other on the

number line?

(1)

FRaferfera at &, #i= @t e, g W@ 9% @ @ent F 31 A g 872

(a) 2,9
(b) 0,-1
Which of the following fractions is the smallest?
Rutatea & o 19 €t o 999 St 82
(@7 (b= (c) = =
0.7499 lies between.
(a) 0.7and 0.74  (b) 0.75 and 0.79 (c) 0.749 and 0.75
0.75

0.7499 = | T HEAT & o= | AT ¢ |

(a) 0.73%X 0.74 (b)0.753X 0.79  (c) 0.749 3fX 0.75
0.75
Which of the following line is longer?

Rt & o S |t W@ aw=t 872

A < » B
C< > D
SECTION-B

Write four negative integers less than -10.
-10 & g1 A quitsh ferfem |
Write True/False.
(a) Smallest integer is -1
(b) Zero is larger than every negative integer.

(1)

(1)
(d) 0.74992 and

(d) 0.74992 3T

(1)

@)

)



g [ FHA 9q1T |

(a) FaH FIeT oM -1 2 |
(b) ST T SFEOTTCH qUITsh o JT AT 2 |

Q.8. Write the fraction representing the total number of natural numbers in the
collection of numbers
3,-2,-1,0,1,2,3. What fraction will it be for whole numbers? 2
2T TS HEATS o THg § | Tohd SEAT & THg HI G901 aTaT (9 & |

3,-2,-1,0,1,2,3

T HEATAT o THE I TAT 6 o1y I3 747 grfy ?

Q.9. Raju bought a book forRs.35.65. He gave Rs.50 to the shopkeeper. How much
money did he get back from the shopkeeper? 2

TS U [T Rs.35.65 il GLIEAT @ | SH THIAIT &l Rs.50 30 | THEEE 7 39
forae w9 arfow faw 2

Q.10. Find the perimeter of the following figure. 2)
= & T2 AT T TRHATT ST oy |
lcm dcm
Temn lcm
dem
S 3cm
“scm | &cm
2cm
1Cm
dem
Q.11. Divide 20 pens between Fiza and John in the ratio of 3:2. 2)
20 =T T TRAAT AT ST & &= 3 : 2 % IqaTd | e |
Q.12. Classify the following as (i) open (ii) close curve 2

A £ 2E T A (1) A (i) 37 T 6 = # T A |

{a) (b) {e) {(d)

Q.13. Draw diagrams of two angles such that they have. 2)
(a) One point in common
(b) Two points in common
(c) One ray in common
(d) Three points in common



IR EAR RIS )
(a) ITH TF g swafaz 27 |
(b) 37¥ T g 3w e v |
(c) IH U= Foheor IwaAe v |
(d) 38 o1 fag 3waf=e 2t |
Q.14. Say true or false. (2)

(a) Two diameters of a circle will not necessarily intersect.
(b) The centre of a circle is always in its interior.

I T A9 910

(a) FAT & I ATH T &I TTA=08 Al H |
(b) T I T g IAH AL H FaT Zravr g |

SECTION-C
Q.15. Energy content of different foods are as follows: 3)

Food Energy content per Kg

Wheat 3.2 Joules

Rice 5.3 Joules

Potatoes 3.7 Joules

(cooked)

Milk 3.0 Joules

(a) Which of the above food provides the least energy and which provides the
maximum?
(b) Express the least energy as a fraction of the maximum energy.

30 T T FT AT H Tl Fol e edd g -

EIEEIIE FoT Trgor wfa 3.3,
T 3.2
=TT 5.3 [T
ST AT 3.7
T8 3.0 9




Q.16.

Q.17.

Q.18.

Q.19.

ST H A
(a) T HT T T AT I T ST T&TF FLAT & TAT TRl HT T STTeF ?

(b) TE FH FAT , T AT Foft T fohaqeT AT 8 39 9y gy g9tz |

Arrange the following in ascending order. 3)
fAraforfaa dearst &1 (el w9 § o |
2.2,2.023,2.0226, 22.1, 20.42, 2.02
The length and breadth of three rectangles are as given below. 3)
(a) 9m and 6m
(b) 17m and 3m
(c) 4m and 14m

Which one has the largest area and which one has the smallest? Justify your
answer.

i srarat i fawre Fefertea 2 -

(a) 9 HY. =T 6 H.
(b) 39T, 3fiT 17 .
(c) 4 ¥ 3T 14 Y,

AW F ToheenT &oTher gae ST g Y Fohereht Tas ¥ ? TohenTd Sa¥ <l rory |

Are the following statements true? Justify. 3)

(a) 40 persons : 200 persons = Rs.15 : Rs.75
(b) 99kg : 45kg = Rs.44 : Rs.20

FT A FaT TEr 8 ?

(a) 40=7f=F : 200 =¥f=F =Rs.15: Rs.75
(b) 99 f3. T, : 45 . UT. = Rs.44 :Rs.20
Draw a sketch of a quadrilateral KLMN Write, 3)
(a) Two pairs of opposite sides
(b) Two pairs of opposite angles
(c) Two pairs of adjacent sides
(d) Two pairs of adjacent angles.

FIHST KLMN T TF = a912 0 3T aaq1ev |

(a) FEE TS F AT L7 |
(b) T T % T 7 |
(c) ST SITAT 6 &7 A |
(d) ST IO % &7 I |




SECTION-D

Q.20. Check whether the following additions are correct. If not, why? (4)

St Referfed ST 957 q21 8 AT a1 ? AfR A5, 91 F+1 A5l ?

2 17

(a) 82 (b) =
1 1
+4Z +12;
123 1228
8 9

Q.21. How many tiles of dimension 12cm x 5cm will be needed to fit in a
rectangular region whose length and breadth are :- 4)
(a) 100cm and 144cm
(b) 70cm and 36cm

T TS sl JTT 12cm x 5¢cm g | T &3 Tl QOIAdT & o [o1T, UHT fohadl ergal
T ATFYTHRAT RO, TTE & T AFATS 3T ATSTS HHA:

(a) 100cm TAT 144cm g

(b) 70cm TAT36cm g

Q.22. Cost of 5kg of wheat is Rs.30.50. 4)
(a) What will be the cost of 8kg of wheat?
(b) What quantity of wheat can be purchased in Rs.61

Skg g T T Rs.30.50 # |

(a) 8 kg. T FT T FIT TRIT?
(b) Rs.61 H fora=T g @IaT ST AT 272



MODEL TEST PAPER
CLASS VI (NISHTHA)
(MATHS)

Time :- Z%Hrs. M.M. = 50
1 S
wwT -2 Hrs. qUIt =50

General Instruction:-

1. All the Questions are compulsory,
2. Paper is divided into two sections
(a) Section A- Fundamental Skills,
(b) Section B-Comprises of syllabus
SECTION-A
Q.1. Write the given numbers in increasing order. (1)

X TS TEATAT T q&d FH § e |
126, 593, 863, 997

7 7 ’

Q.2. Solve. (2)

T T

4 596
]

9260

Q.3. Solve (2)

T T

3521
x 5

Q.4. Solve (2)

ERETIEIY

4> 653 (



Q.5. Look at Sahila’s Report card and answer: (3)

Hlaar 1 T #18 2fEy =7 3w o

Name of Student — Sahila, Class-VI

TreTe FT AT — wigr, FET7 -6

Subject Mid-Term Exam sTeaTities qereqm
e Marks Obtained JTHTH Total Marks TUTT#
Hindi (TB=<T) 60 100
Sanskrit (H&H) 45 100
English (3{3siT) 55 100
Maths (3Tford) 75 100
Science (fa=1T) 54 100
Social Science (FTeTe 38 100
q129)

Total (F1) 327 600

(a) In how many subjects Sahila obtained marks more than 53 in Mid-Term
Exam?
srefarites adterr & wigem 7 e B o 53 & saTar s gy fFo 2

(b) In English Sahila obtained how much less marks than marks obtained in
maths?
ST forer & |fgaT = it & frae st 7 e 3 2

(c) How much more marks are required to obtain 100 marks in science by Sahila?

st & |TZAT FT 100 30 Y17 A o forw fohae et it sraezahar g ?
SECTION-B

Q.6. Tick (~— ) on the name of the shaded portion in the figure. (1)
AT T o ATH 9T (_— ) Fal &7 [Herme dmey |

(a) Sector (b) Segment (c) Chord (d) Diameter
(a) BsamEvE  (b) Fa@E  (c) SfaT (d) =TT
Q.7. Compare the following pairs of numbers using — or<Z in the box. (1)
fafefeg denm o F foatm § >ar<< #1 v i |

(+1) (-15)




Q.8. Show -4 on the number line.

-4 FT AT L@ 9T A2V |

Q.9.

Q.11. Draw any polygon and shade its interior.

TS AGHS TS TUT IH 3Twd: WIT T AT HSTT |

S g g o
Express the 116mm as cm using decimals.

116 mm FT IAHAAT T TIRT FLh cm H AT |
(a) 116cm (b) 1.16cm
Q.10. Name all the four angles in the given figure.

¥ T2 SHfa /= S 6 A e |
B

(c)11.6cm

(d) 0.116cm

(1)

(1)

(2)

(2)

Q.12. A man is standing at (-4). In which direction and how many steps should he move

to reach at (-10)?

(-4) 9 U =A<k @ST 7 | (-10) 9 9g= & fore 38 T fRom & o e waw

(2)

TAT BT ?
-11 | -10 5 |-4-3 10 | 11
Q.13. Write the fraction representing the shaded portion. (2)

Fraifehd 9T 1 9 % =7 § gerizu |

o = |




Q.14.

Q.15.

Q.16.

Q.17.

Q.18.

Write each of following as decimals. (2)
(a) Seven-tenths
(b) Six hundred point eight

v ¥ & % T qeved &9 ¥ forfe |

(a) 7 ZerTer
(b) = | EqHAT S
DivideRs. 30 in the ratio 1:2 between Kriti and Kiran. (2)

Fi 3fiT X0 § Rs. 30 &7 1:2 7 FIfeT |

See the figure and fill in the blanks. (3)
ATHIT T I(FT TAT R T GRT |

(a) PSand SR are sides. (adjacent/opposite)
PS TT SR T 2 | (SHE/EAE)
(b) PQ and SR are side. (adjacent/opposite)
PQaT SR T & | ( ArE/AeE)
(c) Point K lies on the side .
g K o e a5 |
Present age of father is 42 years and that of his son is 14 years. Find the ratio of
present age of father to the present age of son. (3)

T 1 aaAT g 42 T T 3T T Al 14 T4 g | a7 &t aqae g &1 0=
T FAHT S | AT AT I |

Write the opposite of the following:- (3)
(a) Increase in weight.
(b) Loss of Rs. 70.
(c) 30km north.

fReferfea & faada forfe:-

(a) WX ¥ iz
(b) Rs. 70 T BT
(c) 30 1. s=e feem



Q.19.

Q.20.

Q.21.

Q.22.

Write the following numbers in the place value table: 3)
T Hegren iy wuThE AT Aol § forfer|
(a) 20.5 (b)4.2 (c) 0.6
AT /I AT :

Tens (10) Ones (1) Tenths(1/10)

EEES THTE FOTTET
20.5
4.2
0.6

7 3

(i) Find the difference between g and 5 4)

% #qT % T AL ATT AT |
(ii) Simplify (Tt FIforT)

3 7

57 20
Namita travels 20km 50m every day. Out of this she travels 10km 200m by cycle
and rest by Metro. How much distance does she travel by Metro? What value do
you find in her doing so regarding environment. (4)
AT wfafas 20 .41, 50 #t. &t T a7 Fdt ¢ | =99 & 10 .. 200 = &t
T ag AT GIT T FdAT & ST AT L Hel 51T aF Fdl g | THar 921 g0
TRt 0 7 FEAT § 2 IHeh VAT Fdel & TN o6 AT IHeh HAGIE | 3T F47
T ITd & ?
Fill in the blanks. (4)
T =TT &7 9T |

10 4

5 5 3 1



MODEL TEST PAPER
CLASS VI (NEO NISHTHA)
(MATHS)

Time :- Z%Hrs. M.M. = 50
1 S
"EY -2 HTs. qUIt =50

General Instruction:-

1. All the Questions are compulsory,

2. Paper is divided into two sections
(a) Section A- Fundamental Skills,
(b) Section B-Comprises of syllabus

SECTION-A
Ql. 16+15= (1)
Q2. 9x8= (1)
Q3. 56 =37+ (1)
Q4. 45+ =9 (1)
Q.5. Join the dots in increasing order. (2)
favgetr & aed w47 § W=y ?
al, ‘%n?
£
0 { By .
% g,

7%'\
Q.6. 357 (2)

x7

Q7. 8 >3T< (2)



Q.s.

Q..

Q.10. What should be added to 24Kg to make it 40Kg?
24 T3, % fohaeT i [ 9 40 .. g1 st 2

In the garden

Mango trees = 26
Guava trees =13
Jamun trees =17

Total Trees =

= &

A & UE =26
qTET F US =13
STA & U2 =17
T IE =

(2)

After spending Rs. 28, Raman has Rs. 115 left with him. How much money he had?

Rs. 28 T+ ¥ & &T& YA & ITH Rs. 115 99 ¢ | 39 ITH fohae &9 I ?

(2)

(2)



Q.11. A notebook has 72 pages. How many pages will be in 9 such notebooks?

U e § 7299 ¢ | UET 9 Ao # Fhad g9 i ?

Q.12. Divide the given figures in four equal parts.

2T TS AR I AT FAHT AR H i |
Q.13.  Number (&%) Expanded form (faeamha &)
63 = ¥
98 = ¥
152 = + +

Q.14. Write the given numbers in decreasing order.

=T TS HEATS T Fed w9 ¥ forfe |
16, 73, 12, 20, 18, 85, 36.

. 8%
"’L_.}

-

LL\

(2)

(2)

(3)

(3)



Q.15. Complete the pattern.

ECA R EDIE L

v @%,

v N 1LUITNL

(o [o [Jee L]

Q.16. Fill the box with correct number.
Fieg | del geqT fore |

64 [
8 x 32 16 + 16
s0-[]
Q.17. Complete it
T F |
(a) 86, 88, 90, , 94
(b) 194, 198, , 206, 210
(c) 75, 80, 85, , 95
(d) 50, 75, , 125,150

Q.18. Find AB+BC+CD+DE + EA =
ST 4T AB + BC+ CD + DE + EA =

4cm C

(3)

(3)

(4)

(4)



Q.19.

Q.20.

Q.21

Q.22.

SECTION-B
Write in Rs. (Rupees). (1)
=7 ¥ forfew
78 Rupees 25 Paise =

78 =99 25 TH
Write fraction for shaded part (2)

TR T o o e ferfer |
C @0 C

C o0 @ | -
® OO0 O

See the number line and put the correctsigh ( — , = , =) (3)

HEAT TET <F F Al oy T (>, <, =)

(b) 6 -6

(c) -6 -7

Match the following. (4)
e i |

/ \ Line (¥@T)

A
v

Triangle (Fr¥sT)

A Line segment (YT@TET)

| Quadrilateral (Fq)




